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MANUFACTURING PROCESSES - 2

Place the corect letter in the box at the right of each question [r! point tr-Ll '

i. Which of the following IS NOT true regarding ,,Manufacturing,,?

a. it makes technology possible

, Apr 2Or 2O1l t6/  5/  1
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(r t ik j?)

b. it involves organizations that produce or supply services 1- \ nd uJ{t y

c. it is a rvay by which nations generate wealth fil;k t uf
d. it involves the use of mechaaizcd and autor,ated equipment

e. it invoJves making a product from raw materials

Which of the following is a non-hornogenous mixture of basic materials?
a. Alloy

b. Metal

c" Ceramic

d. Poly-mer

e. Comrrositeq=- ( Sitl<- t+)

Which of the follorving is an example of a rn:lierial removal proccsr:?

a, l.xtrusion

E_l

E3.
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b. Ci451ing

c. f i-rnring f-

d. Forging

e. l.{olding
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4. Which of the following is an example of an assembly operation?

a. Drilling

b. Sintering

c. Surface Treatnent

d.Pressfitting <- Cl{tb 
ll'l-)

e. Coating

5. A manufacturing support system ..,

a. involves the way equipment is arranged in the factory

b. includes automated production lines

c. involves low, medium, and high production

d. involves product planning anJquality control e- C S ('JLry)

e. includes production facilities that touch the product

f l-Shelbee ny, PhD Apr 20,201t IE 352 (01,0:) - Suring 201 i Midterm 1 Pape .- l
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6. The correct reading in the gage shown below is ...

a.20.479 mm

b.21,.459 mm

c. 22.479 mm

d.2.2459 mm

e.2L.479 mm +
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7. The correct reading in the gage shown below is .. .

a.0.6666in ? q!! j , tn l\ttTi t  J  .  r A<< t  r-a
(  in

^?

b.6.51,56 in

c .0 .7166 in

d.0.6046 in

e.7.51,56 in
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8. The correct reading in the gage shown below is ...

a. 1.00.06mm !j!, Ht" Aw
b. 100.16mm qe-

c .L0 .06mm

d,. L0.076mm

e. 1,00.26 mm
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9. The correct reading in the gage shown below is ...

Kr*"*-':"'11

I  :  l i t , r

9 d.) ih

a .o

a. 1,900 in (:-

b. I.925 in

c.1.9.25 in

d.0.7925 in

e. l .el in
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10. The foltowing applies for the gage below with tolerance range: 1.5150-5 -- ... E
a. A: go gage (1.5150 mm);B: no-go gage (1.5155 mm);C:rejected

b. A: go gage (1.5155 mm);B: no-go gage (1.5150 mm\ C:rejected

c. A: go gage (1.5L55 mm);B: no-go gage (1.S150 mm); C: re-machining required (_
d. A: go gage (1.5155 mm);B: no-go gage (1.5150 mm);C:accepted

e. A: no-go gage (1.5150 mm);B: go gage (1.5155 mm); C: re_machining required

A, G, -b*E- r)  mst.  r l lowu'ap'-  l .5t55r^ '*n

B : Nc-J. 2*e 9r, ^. i lo-n? - t. 5 l€:o hYl

- : l .  5l9d n- /-. I

/t. '  6 ,t )
"  - l  l

(r{) A : 4"'{ o-z *frtii

5: foeyn J;,ol)f relrrref 1.5156 mm

(plate)

I l. Which of the following applies to a BASIC SIIAFT system?

a. ba^sic size : minimum hole size; basic size - allol'ance : maximum shaft size

b' basic size = maiimum hoie size; basic size - allorvance : minirnum shaft size
c. basic size : minimum shaft size; allowance * basic size = maximum hole size
d. basic size: m#if,I"ffif te; allou,ance t basic size:.,*m4*2r,9"
e, basic size = minimum shaft size; allowance + basic size = minimum hole size

D]

+-

12. What is true below about a LT 3 fit?

a. it is a type of interference/shrink fit

b. it is a tlpe ofrunning clearance fit

c. it is a type of location clearance fit

d. it is a type oflocation interference fit

tr-J;t ;or"
(lt oet,"-<e;
cleuvo,q k ;ate, reral a)

f\
vv

I u <o(iorr

l - ; t

e' it is included within the broad range of fits running betw,een clearance and irrlerrerence r-
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Questions13-15.considera1f"nominatdiameterRC6fitbetweenashaftandahole.

13. The basic size (BS) is ..,

a. 0.8889 in

>)-
'1g" 

= tt?50 in

tr
. l / /
l? =iD.  U. I  I  Z5 tn

onr€(/
\  c .  1 .1250 in  +
\

^\d. o.1t2s in ,
j

e.0.1250 h

14. Respectively, Shaft MMC =; Shaft LMC = ...

a. 1..t234 in;L1.222 in J- l*1t

AAL = l-l 'LSo 
"4;p

b.  1 , .1266 in ; t .L27B in '  Y  
-:;;;;;'\g tE=.';13f:'

c. t.1250 in; 1,.t230 in

':#=--r,\€

it.rz:9;\) ;?,;
d. 1.L250 in; 1.1270 in

l ra C:  l . lZSoi , t = st =_|9so
e. 1'.1230 in;I.I250 in - o.o"Lt 2

r-:::=,
l t .  tz?-L tv)  {

15. Respectively, Hole MMC =; Hole LMC = ...

a. 1..1234 in; L.1222 in

b. L.1266 in;I .L27B in

c. 1.1250 in; L.1230 in

d. 1,.7250 in; L.7270 in

e.1.L230 in;I . t250 in

lqp L
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i6. classify the following geometric tolerances: symmetry; angularity; cylindricitv: | 6l

a. orientation tolerance; position tolerance; form tolerance 
)1ntei.- g ,,

--+> b. position tolerance; orientation tolerance; fomr tolerance i
c. form tolerance; position tolerance; orientation tolerance 

o*tf alw't;l :

d. orientation tolerance; form tolerance; position tolerance </l;tj t,t, 
V :

e. position tolerance; orientation tolerance; position tolerance

17. The symbol /-7 refers to the following geometric tolerance:

a. straightness

b. parallelism

c. flatness <-

d. symmetry

e. position

18. When a geometric tolerance is specified regardless of feature size...

a. the lelters RFS are written inside the reference conlrol frame

b" no special symbol is indicated next to the tolerance ,A"" ?( /-

c. the letter M is written inside a circle next to the tolerance value (9

d. the letter S is written inside a circle next to the tolerance value(iJ

e. the letter L is written inside a circle next to the tolerance nolu.(9t

?a:, )t i  on

ol ,er.tr&ioh

ilvn

t"*#")
4/

El-She,rbeeny, PhD Apr 20, 201 I IE 352 (01,02) - Spring 201 | Midtorm l Page-9



King Saud University - College of Engi:reering _ Industrial Engineering,Dept.

Questions 19-20. consider the figure below and ansiver the questions that follow.

19. V6 =

a.0.739 1-

b .0 .749

c .  u , /5u

d. 0.751

e.0 .76L

20. What is the vafue of the geometric tolerance give n BS = O.753 mm

\  \ i t i . 'hn ;  hol@

9J = o.?.So 'at"t

Ar.C= SS ' -  t ' tPT^l-
- o.?Jq-  -  O .ood

a.Sunm
\ , t t  =AAC -  O.?qhnn

-  
-  G€or . .ao)  

- -o .oo :

SJ = c. lSlnr1a.0 .005mm

b.0.017 mm

c.0 .006mm

d.0 .0LLmm

e.0 .014mm 4/

- \/o (n''n I''y )

= o.4 5'J nn
-  o .JJ)nn

o.o l \hw1

tRoF. l^r, = D)

)are 7 t aa- ) li )o tf (.r wa J n^Jt
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